## GENERAL CONSTRUCTION CONTRACT

THIS CON	NTRACT ma	de on _				, by and 1	between	the	CITY O	F ME	RCED, a
municipal	corporation	of the	State	of	California,	hereinafter	called	the	Owner,	and	<b>VIKING</b>
CONSTRU	JCTION CON	MPANY	, INC.,	here	inafter calle	d the Contrac	ctor:				

## WITNESSETH:

That the parties hereto have mutually covenanted and agreed, and by these presents do covenant and agree with each other, as follows:

- 1. THE CONTRACT DOCUMENTS. The complete CONTRACT consists of the following documents, to wit:
  - (a) Change Orders or Work Change Directives
  - (b) This General Construction Contract;
  - (c) Faithful Performance Bond;
  - (d) Laborers and Materialmens Bond;
  - (e) Guaranty;
  - (f) Addenda;
  - (g) Bid Forms: Bid (Proposal) to the City of Merced; Bid Schedule; List of Subcontractors and Material Dealers; Public Contract Code; Signature of Bidder; Bidder's Bond;
  - (h) Special Provisions for **PROJECT NO. 108026**;
  - (i) State Specifications adopted by the contract (Caltrans Standard Specifications dated 2010;)
  - (i) Notice Inviting Bids;
  - (k) Project Plans;
  - (l) Caltrans Standard Plans dated 2010;
  - (m) City Standards;
  - (n) The latest revisions to the General Prevailing Wage Rates;
  - (o) Safety Provisions;
  - (p) Federal Requirements for Federal –Aid Construction Contracts (FHWA-1273).

Any and all obligations of the Owner and the Contractor are fully set forth and described therein.

All of the above documents are intended to cooperate so that any work called for in one and not mentioned in the other, or vice versa, is to be executed the same as if mentioned in all said documents. The documents comprising the complete contract are sometimes hereinafter referred to as the Contract Documents. In case of conflict between any of the documents, the order of documents first listed above shall be the order of precedence, with the first item listed having the highest precedence.

2. THE WORK. Said Contractor agrees to furnish all tools, equipment, apparatus, facilities, labor, transportation, and material necessary to perform and complete in a good and workmanlike manner all work of improvement in accordance with Contract Documents as called for, and in the manner designated in, and in strict conformity with, the Project Plans for **PROJECT NO. 108026**, prepared by the City Engineer, and adopted by the Owner, which said Plans are entitled, "**PROJECT NO. 108026** – **M & G STREET BRIDGES AT BEAR CREEK,"** project plans for construction in Merced County in Merced, awarded \_\_\_\_\_\_\_. It is understood and agreed that said tools, equipment, apparatus, facilities, labor, transportation, and material shall be furnished and said work performed and completed as required in said Project Plans under the sole direction and control of the Contractor, and subject to inspection and approval of the Owner or its representative. The Owner hereby designates the City Engineer as its representative for the purpose of this Contract.

3. CONTRACT PRICE. The Owner agrees to pay, and the Contractor agrees to receive and accept the following prices as full compensation for furnishing all materials and doing all work contemplated and embraced in this agreement to wit:

## **BID SCHEDULE:**

ITEM NO.	ITEM	UNIT OF MEASURE	ESTIMATED QUANTITY	UNIT PRICE (IN FIGURES)	ITEM TOTAL (IN FIGURES)	
1	Construction Surveys	LS	1	\$ 20,000.00	\$ 20,000.00	
	Progress Schedule (Critical Path Method)	LS	1	\$ 10,000.00	\$ 10,000.00	
2	, , , , , , , , , , , , , , , , , , ,	LS	1	\$100,000.00	\$100,000.00	
3	Traffic Control System		8	\$ 2,500.00	\$ 20,000.00	
4	Portable Changeable Message Sign  Job Site Management	EA	1	\$ 2,500.00	\$ 20,000.00	
5		LS LS	1	\$ 7,500.00	\$ 7,500.00	
6	Water Pollution Control Program		1	\$ 10,000.00	\$ 10,000.00	
7	Storm Water Pollution Prevention	LS			. ,	
8	Maintaining Channel Flow	LS	1	\$100,000.00	\$100,000.00	
9	Temporary Fence (Type ESA)  Contractor-Supplied Biologist	LF	160	\$ 10.00	\$ 1,600.00	
10	(Bat Specialist)	LS	1	\$ 5,000.00	\$ 5,000.00	
11	Bat Exclusion And Protection	LS	1	\$ 25,000.00	\$ 25,000.00	
12	Public Safety Plan	LS	1	\$ 5,000.00	\$ 5,000.00	
13	Rapid Setting Concrete (Patch)	CF	2	\$ 1,000.00	\$ 2,000.00	
14	Remove Pedestrian Barricade	EA	1	\$ 2,500.00	\$ 2,500.00	
15	Remove Painted Pavement Marking	SQFT	395	\$ 5.00	\$ 1,975.00	
16	Remove Thermoplastic Traffic Stripe	LF	1,878	\$ 1.00	\$ 1,878.00	
17	Remove Pavement Marker	EA	1,118	\$ 2.00	\$ 2,236.00	
18	Remove Sign	EA	1	\$ 500.00	\$ 500.00	
19	Remove Asphalt Concrete Surfacing	SQFT	4,922	\$ 2.00	\$ 9,844.00	
20	Remove Concrete Sidewalk	SQYD	201	\$ 50.00	\$ 10,050.00	
21	Remove Concrete (Curb And Gutter)	LF	195	\$ 30.00	\$ 5,850.00	
22	Remove Unsound Concrete	CF	2	\$ 600.00	\$ 1,200.00	
23	Prepare Concrete Bridge Deck Surface	SQFT	4922	\$ 2.00	\$ 9,844.00	
24	Furnish Polyester Concrete Overlay	CF	1590	\$ 115.00	\$182,850.00	
25	Place Polyester Concrete Overlay	SQFT	4922	\$ 4.00	\$ 19,688.00	
26	Treat Bridge Deck	SQFT	11560	\$ 1.00	\$ 11,560.00	
27	Furnish Bridge Deck Treatment Material	GAL	128	\$ 75.00	\$ 9,600.00	
28	Bridge Removal (Portion), Location A	LS	1	\$225,000.00	\$225,000.00	
29	Bridge Removal (Portion), Location B	LS	1	\$ 75,000.00	\$ 75,000.00	
30	Roadway Excavation	CY	756	\$ 75.00	\$ 56,700.00	
31	Class 4 Aggregate Subbase	CY	407	\$ 90.00	\$ 36,630.00	
32	Class 2 Aggregate Base	CY	188	\$ 92.00	\$ 17,296.00	
33	Slurry Seal	TON	36	\$ 1,200.00	\$ 43,200.00	
34	Hot Mix Asphalt (Type A)	TON	324	\$ 200.00	\$ 64,800.00	

35	HMA Plug (12") Deep	TON	13	\$ 200.00	\$ 2,600.00
33	Mechanically Stabilized Embankment	1011	10	Ψ 200100	<b>4 2,000.00</b>
36	(Block Wall)	SQFT	359	\$ 125.00	\$ 44,875.00
37	Structural Concrete, Bridge	CY	147	\$ 1,650.00	\$242,550.00
38	Aggregate Base (Approach Slab)	CY	64	\$ 125.00	\$ 8,000.00
39	Structural Concrete, Approach Slab (Type R)	CY	213	\$ 700.00	\$149,100.00
	Minor Concrete (Memorial Pillar)		1	\$ 12,000.00	\$12,000.00
40	` ′	LS		· ·	·
41	Paving Notch Extension Drill and Bond Dowel	CF	330	\$ 175.00	\$ 57,750.00
42	(Chemical Adhesive)	EA	715	\$ 32.00	\$ 22,880.00
43	Joint Seal (MR 1/2")	LF	132	\$ 100.00	\$ 13,200.00
44	Bar Reinforcing Steel (Bridge)	LB	35286	\$ 1.00	\$ 35,286.00
45	Roadside Sign (One Post)	EA	1	\$ 600.00	\$ 600.00
46	Rock Slope Protection (Light, Method B)	CY	1507	\$ 200.00	\$301,400.00
47	Rock Slope Protection Fabric (Class 8)	SQYD	1832	\$ 2.00	\$ 3,664.00
48	Minor Concrete (Curb)	LF	35	\$ 120.00	\$ 4,200.00
49	Minor Concrete (Curb And Gutter)	LF	181	\$ 80.00	\$ 14,480.00
50	Detectable Warning Surface	SQFT	76	\$ 75.00	\$ 5,700.00
51	Minor Concrete (4" Sidewalk)	SQFT	1,354	\$ 20.00	\$ 27,080.00
52	Miscellaneous Metal (Bridge)	LB	1,029	\$ 30.00	\$ 30,870.00
53	Pedestrian Barricade	EA	1	\$ 2,500.00	\$ 2,500.00
54	Pedestrian Barricade (Mod)	LF	16	\$ 200.00	\$ 3,200.00
55	Tubular Handrailing (Pedestrian)	LF	279	\$ 250.00	\$ 69,750.00
56	California St-40 Bridge Rail	LF	188	\$ 400.00	\$ 75,200.00
57	4" Thermoplastic Stripe	LF	434	\$ 1.00	\$ 434.00
58	6" Thermoplastic Stripe	LF	516	\$ 2.00	\$ 1,032.00
59	8" Thermoplastic Stripe	LF	569	\$ 2.00	\$ 1,138.00
60	12" Thermoplastic Stripe	LF	1,177	\$ 4.00	\$ 4,708.00
61	Thermoplastic Pavement Marking	SQFT	395	\$ 5.00	\$ 1,975.00
62	Pavement Marker (Non-Reflective)	EA	960	\$ 4.00	\$ 3,840.00
63	Pavement Marker (Retro-Reflective)	EA	240	\$ 4.00	\$ 960.00
64	Lighting (City Street- Sternberg)	EA	4	\$ 11,000.00	\$ 44,000.00
65	Lighting (Pedestrian - Wall Luminaire)	EA	4	\$ 1,200.00	\$ 4,800.00
66	Traffic Signal Modification	LS	1	\$125,000.00	\$125,000.00
67	Flagpole (20-Foot)	EA	8	\$ 3,500.00	\$ 28,000.00
68	Flagpole (25-Foot)	EA	2	\$ 4,000.00	\$ 8,000.00
69	Mobilization	LS	1	\$270,000.00	\$270,000.00

**TOTAL BID ITEMS 1 THROUGH 69: \$2,716,573.00** 

4. TERMINATION. If the Contractor should be adjudged as bankrupt or if he should make a general assignment for the benefit of his creditors, or if a receiver should be appointed on account of his insolvency, or if he or any of his subcontractors should violate any of the provisions of the Contract Documents, the Owner may serve written notice upon him and his surety of its intention to terminate the Contract; such notice to contain the reasons for such intention to terminate the Contract, and, unless within ten (10) days after serving of such notice such violation shall cease and satisfactory arrangements for correction thereof be made, the Contract shall, upon the expiration of said ten (10) days, cease and terminate.

In the event of any such termination, the Owner shall immediately serve written notice thereof upon the surety and the Contractor, and the surety shall have the right to take over and perform the Contract; provided however, that if the surety within fifteen (15) days after the serving upon it of notice of termination does not give the Owner written notice of its intention to take over and perform the Contract or does not commence performance thereof within thirty (30) days from the date of the serving of such notice, the Owner may take over the work and prosecute the same to completion by contract or by any other method it may deem advisable, for the account and at the expense of the Contractor, and the Contractor and his surety shall be liable to the Owner for any excess cost occasioned the Owner thereby, and in such event the Owner may, without liability for so doing, take possession of and utilize in completing the work such materials, appliances, plant, and other property belonging to the Contractor as may be on the site of the work and necessary therefore.

- 5. NOTICE AND SERVICE THEREOF. Any notice from one party to the other under the Contract shall be in writing and shall be dated and signed by the party giving such notice, or by a duly authorized representative of such party. Any such notice shall not be effective for any purpose whatsoever unless served in the following manner; namely, (a) if the notice is given to the Owner, per personal delivery thereof to the Director of Public Works of said Owner, or by depositing the same in the United States mails enclosed in a sealed envelope addressed to the Owner, postage prepaid and registered; (b) if the notice is given to the Contractor, by personal delivery thereof to said Contractor or to his duly authorized representative at the site of the project, or by depositing the same in the United States mails enclosed in a sealed envelope, addressed to said Contractor at 11315 SUNRISE GOLD CIRCLE, SUITE A, RANCHO CORDOVA, CA 95742, postage prepaid and registered; and (c) if the notice is given to the surety or any other person, by personal delivery to such surety or other person, or by depositing the same in the United States mails enclosed in a sealed envelope, addressed to such surety or person, as the case may be, at the address of such surety or person last communicated by him to the party giving the notice, postage prepaid and registered.
- 6. ASSIGNMENT OF CONTRACT. Neither the Contract nor any part thereof, nor moneys due, or to become due thereunder, may be assigned by the Contractor without the prior written approval of the Owner.
- 7. CONTRACT SECURITY. The Contractor shall furnish a surety bond in an amount at least equal to 100 percent of the contract price as security for the faithful performance of this Contract. The Contractor shall also furnish a separate surety bond in an amount at least equal to 100 percent of the contract price as security for the payment of all persons for furnishing materials, provisions, provender, or other supplies used in, upon, for, or about the performance of the work contracted to be done, or for performing any work or labor thereon of any kind, and for the payment of amounts due under the Unemployment Insurance Code with respect to such work or labor in connection with this Contract, and for the payment of a reasonable attorney's fee to be fixed by the court in case suit is brought upon the bond.
- 8. INSURANCE. The Contractor shall not commence work under this Contract until he has obtained all insurance required by Section 7-1.06 of the State Specifications, as amended, and such insurance has been approved by the City Attorney of Owner, nor shall the Contractor allow any subcontractor to commence work on his subcontract until all similar insurance required of the subcontractor has been so obtained and approved. Contractor shall furnish the Owner with satisfactory proof of the carriage of insurance required,

and there shall be a specific contractual liability endorsement extending the Contractor's coverage to include the contractual liability assumed by the Contractor pursuant to this Contract, and particularly paragraph 9 hereof. Said insurance obtained by the Contractor shall be primary and noncontributory as to any insurance maintained by owner. Endorsement for additional insured shall be submitted on standard form CG 20101185. Endorsement forms CG 20101001 and CG 20371001, when used together, are acceptable in lieu of CG 20101185 for Public Works projects. Any policy of insurance required of the Contractor under this Contract shall also contain an endorsement providing that thirty (30) days notice must be given in writing to the Owner of any pending change in the limits of liability or of any cancellation or modification of the policy.

The Contractor shall furnish the City a policy or certificate of liability insurance in which the City is the named insured or is named as an additional insured with the Contractor. Notwithstanding any inconsistent statement in the policy or any subsequent endorsement attached thereto, the City shall be the insured or named as an additional insured covering the work, whether liability is attributable to the Contractor or the City. The policy shall insure the City, its officers, employees and agents while acting within the scope of their duties on the work, against all claims arising out of or in connection with the work.

The Contractor may file insurance acceptable to the City covering more than one project. The coverage shall provide the following minimum limits:

Bodily Injury \$ 500,000 each person

\$1,000,000 each occurrence

\$1,000,000 aggregate products and completed operations

Property Damage \$ 250,000 each occurrence

\$ 500,000 aggregate

A combined single limit policy with aggregate limits in the amount of \$1,250,000 will be considered equivalent to the required minimum limits.

The Contractor will require all subcontractors to take out and maintain bodily injury liability and property damage liability in the amounts stated above.

The Contractor and subcontractors shall save, keep and hold harmless the City, its officers and agents from all damages, costs or expenses in law or equity that may at any time arise or be set up because of damages to property, or of personal injury received by reason of or in the course of performing work, which may be caused by any *willful* or negligent act or omission by the Contractor, any of the Contractor's employees, or any subcontractor. The City will not be liable for any accident, loss or damage to the work prior to its completion and acceptance.

All liability insurance policies shall bear an endorsement or shall have attached a rider whereby it is provided that, in the event of expiration or proposed cancellation of such policies for any reason whatsoever, the Agency shall be notified by registered mail, return receipt requested, giving sufficient time before the date thereof to comply with any applicable law or statute, but in no event less than thirty (30) days before expiration or cancellation is effective.

All insurance required by this section shall be from a California admitted insurance company.

The cost of this insurance shall be included in the Contractor's bid.

9. HOLD HARMLESS. The Contractor will indemnify, defend with counsel selected by the Owner, save, keep, and hold harmless, the Owner and all officers, employees, and agents thereof from all damages, costs, or expenses, in law or in equity, that may at any time arise or be set up because of personal injury or damage to property sustained by any person or persons by reason of, or in the course of the performance of said work, or by reason of any infringement or alleged infringement of the patent rights of any person or persons, firm or corporation, in consequence of the use in, on, or about said work, of any article or material supplied or installed under this Contract. It is understood that the duty of Contractor to indemnify and hold harmless includes the duty to defend as set forth in Section 2778 of the California Civil Code. Notwithstanding the above, the Contractor shall, wherever it is necessary, keep and maintain at his sole cost and expense during the course of his operations under this Contract such warnings, signs, and barriers as may be required to protect the public. The provisions of the preceding sentence shall not impose any liability upon the Owner and are for the express benefit of the general public.

Acceptance by City of insurance certificates and endorsements required under this Agreement does not relieve Contractor from liability under this indemnification and hold harmless clause. This indemnification and hold harmless clause shall apply to any damages or claims for damages whether or not such insurance policies shall have been determined to apply. By execution of this Agreement, Contractor acknowledges and agrees to the provisions of this Section and that it is a material element of consideration.

It is expressly understood that Contractor is an independent Contractor and that its employees shall not be employees of or have any contractual relationship with the City. Contractor shall be responsible for the payment of all taxes, workers' compensation insurance and unemployment insurance. Should Contractor desire any insurance protection, the Contractor is to acquire such protection at its expense.

In the event that Contractor or any employee, agent, or subcontractor of Contractor providing services under this Agreement is determined by a court of competent jurisdiction or the California Public Employees Retirement System (PERS) to be eligible for enrollment in PERS as an employee of the City, Contractor shall indemnify, defend, and hold harmless City for the payment of any employee and/or employer contributions for PERS benefits on behalf of Contractor or its employees, agents, or subcontractors, as well as for the payment of any penalties and interest on such contributions, which would otherwise be the responsibility of City.

- 10. ACCIDENT PREVENTION. Precaution shall be exercised at all times for protection of persons (including employees) and property. The safety provisions of applicable laws, building and construction codes shall be observed. Machinery, equipment, and other hazards shall be guarded or eliminated in accordance with the safety provisions of the Construction Safety Orders issued by the Industrial Accident Commission of the State of California.
- 11. PAYMENT. The Owner will make partial and final payments to the Contractor in accordance with Section 9 of the State Specifications, as amended, except that the Owner will retain the five percent (5%) of the final payment amount until the expiration of thirty-five (35) days from the date of recording by Owner of notice of acceptance of completion of all work covered by this Contract, if such notice be recorded within ten (10) days after the acceptance of completion of such Contract; or, if such notice be not so recorded within ten (10) days, until the expiration of ninety-five (95) days after the acceptance of completion of such work of improvement, at which time and not before, Owner shall pay to Contractor the whole of the remaining five percent (5%) of said contract price so held back as provided. The closure date for the purpose of making monthly progress payment will be the last calendar day of that month. The Contractor may request in writing that such monthly closure date be changed. The Engineer may approve such request when it is compatible with the Agency's payment procedure.

Each month, the Contractor will submit its own invoice for work performed to the closure date and the Engineer will make an approximate measurement of the work performed to the closure date and as a basis for making monthly payments, estimate its value based on the contract unit prices or as provided for in Subsection 9-2. The Owner will endeavor to, not later than twenty (20) working days after receipt of Contractor's invoice, make partial payment to the Contractor, based on work performed and materials incorporated in the project as of the closure date of that particular calendar month, providing that the Contractor's invoices for the work performed agrees with the Engineer's determination. If the Engineer's determination differs from the Contractor's invoices, the Owner will make payment to the Contractor for those items or portions of items not in dispute not later than payment would have been made had no dispute occurred. Within ten (10) calendar days after agreement on disputed work is achieved between the Owner and the Contractor, the Owner shall pay the Contractor for any additional monies due as a result of settling any dispute. When the work has been satisfactorily completed, the Engineer will determine the quantity of work performed and prepare the final estimate. From each progress estimate, ten (10) percent will be deducted and retained by the Agency, and remainder less the amount of all previous payments will be paid to the Contractor.

The payment of progress payments by the Owner shall not be construed as an absolute acceptance of the work done up to the time of such payments, but the entire work is to be subjected to the inspection and approval of the Owner and subject to whatever inspection and approval may be required by law.

- 12. The statement of prevailing wages appearing in the General Prevailing Wage Rates is hereby specifically referred to and by this reference is made a part of this contract. It is further expressly agreed by and between the parties hereto that should there by any conflict between the terms of this instrument and the bid or proposal of said Contractor, then this instrument shall control and nothing herein shall be considered as an acceptance of the said terms of said proposal conflicting herewith.
- 13. By my signature hereunder, as Contractor, I certify that I am aware of the provisions of Section 3700 of the Labor Code which require every employer to be insured against liability for workmen's compensation or to undertake self-insurance in accordance with the provisions of that code, and I will comply with such provisions before commencing the performance of the work of this contract.

IN WITNESS WHEREOF, three (3) identical counterparts of this Contract, each of which shall for all purposes be deemed an original thereof, have been duly executed by the parties herein above named, on the day and year first herein written.

ATTEST:	CITY OF MERCED, a Municipal Corporation (Herein called Owner)				
By: Deputy City Clerk	Ву:	City Manager			
APPROVED AS TO FORM:	VIKING CONSTRUCTION COMPANY, INC. (Herein called Contractor)				
By:City Attorney	By: Contractor provide Rand	or livensed in accordance with an act ing for the registration of contractors.  Y Jenes, President			
ACCOUNT DATA:		I.D. NO .: 68-0404112			
PROJECT No. 108026	VENDOR NUMBER:				
PROJECT ACCOUNT NUMBER:	ADDRESS:	11315 Sunrise Gold Circle, Suite A Rancho Cordova, CA 95742			
450-1104-637-65.00-108026	PHONE:	(916) 852-5530			
Amount: <u>\$ 2,716,573.00</u>	FAX:	(916) 852-5533			
	EMAIL:	rjenco@vikingbridges.com			
By: Finance Officer Verification	(SEAL	.)			